SAMTHEIA2H (KEER)

ST PR ENTE TS (R E) A H

A fi AL 95 kv
(RIS 10 2 B e 75 20)
fi o ED7EA B (kg) - o AR
AR W0 | Ak FE M Em) | e | Z2fE) FE M E) | B | Z2fE)
101| Rz 420 130 290 Kg | 1,404 107| & 3,240 324
102|&E- W\ 1,201 1,201 Kg T 1,544 370
111|&fEEE S 875 875| Kg iE 2,106 295
114|&IEF B 121 121 Kg BE 2,970 1,620
117136 600 89 511 Kg |ERE 1,620 11| &fE 3,996 378
121|pbixE 9 9 Kg |&&E 1,188 540
134|7- 378 149 229 Kg |&F - =4 2,000 1,000| & 2,808 1,404
137|&FE3 < 3 3] Kg Koy 3,942
140|511 16 16| Kg i 183,600 16,200
147|200 51 5 46| Kg [HiB 5,940 1,836 |87 - Ko 7,000 4,000
158|BIEN A LD 228 228 Kg RS 2,592 324
201|Lvb L 713 713 Kg FE 540 126
203|/h\d L 4 4l Kg BiR 540
205|HLd L 45 45|  Kg Syl 839 479
206 & 544 544  Kg f&hd 746 346
207|cAE 1,135 1,135 Kg e 2,430 270
208|120 422 422  Kg =571 2,160 243
209|F B HLA 349 349| Kg 5 929 432
210(1F A L 580 368 212 Kg |O 3,780 1,809(1L 8 3,510 1,431
212|&B.Y 126 126| Kg Y1 3,197 1,944
222|062 48 48| Kg 5 288 36
251|< A ELCA 99 99 Keg |=4 2,182
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4| EbhELCAH 530 530 Kg CAES 3,186 1,026
303|[A 270 69 30 39] Kg |@ 468 360 |+ 864 288
305|x A Db 29 29 Kg |&)I 3,024 2,160

306|L e LY 9 9| Kg LA 1,080
315|765 155 155 Kg =571 2,700 1,296
319|& b5 243 3 240 Kg |KBR 108 i 2,160 1,080
3321 EA =F 195 195 Kg b 1,836 1,566
3b51|HBbHV 56 10 46| Kg |8BE 3,672 2,160| 245 28,620 2,160
354[1FE <Y 20 20| Kg ik 1,296 1,188
355(HE Y 94 94| Kg EH - BE 1,728 600
356 L L& 40 40| Kg EE 1,512 972
357|#HE 9 9| Kg PR [E 7,560 1,013
358| K8 15 15| Kg 5 3,996 1,728
362|h = 2 2| Kg e 7,776

401|d P 40 40| Kg I B 2,052 486
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PR T A o % (R %) 248 A
SFTHFEIH2H (KEH)
7R 2.5 >4
(MR 1V B Bl 55 5 L)
s N wHh7E FRTERLS |
ENE| FRXTERLS | = fE () JE Hh = fE () HE () ZAE(H)

O—JLLv 10 10| Kg [E2pa] 1,080

AEBAT RO 1,919 1,919 Kg [E2pa] 3,816 1,194
AERLEXOD 64 64 Kg FE 1,380 1,242
i A OSE 10 10 Kg p|#=S 1,050

Dyt 30 30 Kg p|#=S 1,296 1,026
ey Y et 299 299 Kg [E2pa] 3,750 1,250
A 5 5 Kg p|#=3 4,590

AT 147 147 Kg biEE - dbiF 2,160 1,120




SAMTHEIA2H (KEER)

ST PR ENTE TS (R E) A H

T IR 5.8 b~
(MR 1V B Bl 55 5 L)
:Tpﬁ\ o N7 K B (k) P 0k FAFEE]
AH w7 FRRFE S| FE I = fE () HE () ZAE(H) FE M = fE () HE () ZAE(H)
701[B Y BHA 1,214 334 880 Kg [EE 4,644 3,878| & 3,888 1,620
705(7=2< Y 26 26| Kg PANaN 3,240
710(»> 2 HHF 7 7 Kg =y 945 783
755|BAd L 21 21| Kg R 637
801 1AL = IS 574 5741 Kg ¥ -mA 2,100 1,242
802|x 17 40 401 Kg 2Dz 1,814 1,404
805[tE = (£ 1,730 1,730 Kg JbE 1,274 743
80718 # D F 8 8 Kg JbE 10,962
810|FAKTF 449 449 Kg JbE 2,808 1,350
815|—9 XA X 1,629 1,629] Kg bEE 1,728 576
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